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amOZr{V {dkmZ 
POLITICAL SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

Time allowed : 3 hours Maximum Marks : 100 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 16 h¢ &  

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 16 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ g§»`m 1 – 5 VH$ àË`oH$ àíZ EH$ A§H$ H$m$ h¡ & àË`oH$ àíZ H$m CÎma 20 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iii) àíZ g§»`m 6 – 10 VH$ àË`oH$ àíZ Xmo A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 40 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iv) àíZ g§»`m 11 – 16 VH$ àË`oH$ àíZ Mma A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 100 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 17 – 21 VH$ àË`oH$ àíZ nm±M A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  
{b{IE & 

(vii) àíZ g§»`m 22 – 27 VH$ àË`oH$ àíZ N>… A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions number 1 – 5 are of one mark each. The answers to these 

questions should not exceed 20 words each. 

(iii) Questions number 6 – 10 are of two marks each. The answers to these 

questions should not exceed 40 words each. 

(iv) Questions number 11 – 16 are of four marks each. The answers to these 

questions should not exceed 100 words each. 

(v) Questions number 17 – 21 are of five marks each. The answers to these 

questions should not exceed 150 words each. 

(vi) Question number 21 is a map-based question. Write its answers in your 

answer-book. 

(vii) Questions number 22 – 27 are of six marks each. The answers to these 

questions should not exceed 150 words each. 
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1. 1971 Ho$ MwZmdm| _| BpÝXam Jm±Yr Ho$ ZoV¥Ëd dmbr H$m±J«og nmQ>u H$s g\$bVm Ho$ {bE CÎmaXm`r 

_w»` H$maH$ H$m AmH$bZ H$s{OE & 1 

 Assess the main factor responsible for the success of Congress Party led 

by Indira Gandhi in 1971 elections. 

2. nydm}Îma ^maV H$s ‘gmV ~hZ|’ {H$Z gmV amÁ`m| H$m à{V{Z{YËd H$aVr h¢ ? 1 

 ‘Seven Sisters’ of North-East India represent which seven States ? 

3. ^maV _| hþE {H$gr EH$ Eogo OZ Am§XmobZ H$s nhMmZ H$s{OE Omo {dH$mg n[a`moOZmAm| Ed§ 

CZHo$ à^mdm| go gå~pÝYV Wm & 1 

 Identify any one popular movement of India which was related to the 

development projects and their effects. 

4. {ÛY«wdr`Vm Ho$ A§V H$m _w»` H$maU ñnîQ> H$s{OE & 1 

 Explain the main reason for the end of bipolarity. 

5. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ‘Am{g`mZ e¡br’ H$m AW© ñnîQ> H$aVm h¡ ? 1 

(A) dh ñWb _mJ© Omo g^r Am{g`mZ Xoem| H$mo Amng _| Omo‹S>Vm h¡ & 

(~) `h Am{g`mZ Xoem| Ho$ ~rM gh`moJmË_H$ Am¡a AZm¡nMm[aH$ _ob-{_bmn H$m VarH$m 
h¡ & 

(g) `h Am{g`mZ Xoem| _| bmoJm| Ho$ OrZo H$m VarH$m h¡ & 

(X) `h dh VarH$m h¡ {Ogo Am{g`mZ Xoem| Zo JR>~§YZ ~ZmZo Ho$ {bE AnZm`m Wm & 

 Which one of the following statements explains the meaning of ‘ASEAN 

Way’ ? 

(a) It is the road that connects all the ASEAN countries. 

(b) It is an informal and cooperative interaction among the ASEAN 

countries. 

(c) It is the way people live in ASEAN countries. 

(d) It is the way ASEAN countries adopted to form an alliance. 
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6. ñV§^ ‘A’ _| {XE JE VÏ`m| H$m, ñV§^ ‘B’ Ho$ VÏ`m| go AW©nyU© {_bmZ H$s{OE : 4
2

1
=2 

            ñV§^  ‘A’            ñV§^  ‘B’ 

(a) Xÿgar n§Mdfu` `moOZm Ho$ `moOZmH$ma (i) gr. amOJmonmbmMmar 

(b) OZ g§K Ho$ g§ñWmnH$ AÜ`j (ii) gaXma d„^^mB© nQ>ob 

(c) ñdV§Ì ^maV Ho$ àW_ ^maVr` JdZ©a OZab (iii) nr.gr. _hmbZmo{~g 

(d) ñdV§Ì ^maV Ho$ àW_ Cn-àYmZ_§Ìr (iv) í`m_m àgmX _wIOu 

 Match the facts given in Column ‘A’ with those in Column ‘B’ in a 

meaningful way : 

 Column ‘A’             Column ‘B’ 

(a) Architect of the (i) C. Rajagopalachari 

 Second Five Year Plan  

(b) Founder President of  (ii) Sardar Vallabhbhai Patel 

 Jana Sangh  

(c) First Indian Governor  (iii) P.C. Mahalanobis  

 General of free India  

(d) First Deputy Prime (iv) Shyama Prasad Mukherjee 

 Minister of free India  

7. H$moB© EH$ CXmhaU XoH$a Xem©BE {H$ MrZ Zo ^maV Ho$ gmW gå~ÝYm| H$mo {_ÌVm go ewê$ {H$`m 
na§Vw ~mX _| Xþí_Z ~Z J`m & 2 

 Show with the help of any one example that China began its relations 

with India on a friendly note but later turned to be an enemy. 

8. ~‹S>o Xoem| Ho$ gmW g ¡Ý` JR>~§YZ ~ZmE aIZo go, N>moQ>o Xoe {H$g àH$ma bm^mpÝdV hþE ? 2 

 How were small countries benefited by having military alliance with big 

powers ? 

9. {H$gr EH$ CXmhaU H$s ghm`Vm go Xem©BE {H$ àm¡Úmo{JH$s Zo d¡ídrH$aU Ho$ àgma H$mo Vrd«Vm 
àXmZ H$s h¡ & 2 

 Show with the help of one example that technology has accelerated the 

spread of globalisation. 
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10. [a`mo gå_obZ _| M{M©V n`m©daU gå~ÝYr {H$Ýht Xmo _wÔm| H$m dU©Z H$s{OE {OZ na 
{Z`_mMma {ZYm©[aV {H$E JE & 21=2 

 Describe any two environmental issues on which conventions were 

produced at the Rio Summit. 

11. ^maV Am¡a MrZ Ho$ ~rM {ddmX Ho$ {H$Ýht Mma _wÔm| H$mo ñnîQ> H$s{OE & 41=4 

 Explain any four issues of conflict between India and China. 

12. ídoV H«$m§{V Ho$ EH$ ^mJ Ho$ ê$n _| ‘Am°naoeZ âbS>’ H$m`©H«$_ Ho$ bm^m| H$m _yë`m§H$Z  

H$s{OE & 4 

 Evaluate the benefits of the programme ‘Operation Flood’ as part of the 

White Revolution. 

13. ^maV H$s {dXoe Zr{V Ho$ EH$ VÎd Ho$ ê$n _|, ‘JwQ>-{ZanojVm’ H$s Zr{V H$s ì`m»`m  

H$s{OE & 4 

 Explain ‘Non-alignment’ as an aspect of India’s foreign policy. 

14. ^maVr` {H$gmZ `y{Z`Z H$s {H$Ýht Mma _m±Jm| H$m C„oI H$s{OE & 41=4 

 Mention any four demands of the Bhartiya Kisan Union. 

15. 1980 Ho$ XeH$ Ho$ A§{V_ dfm] _|, ^maV _| AmE Eogo {H$Ýht Xmo ~‹S>o ~Xbmdm| H$m dU©Z 
H$s{OE {OZH$m h_mar AmJo H$s amOZr{V na Jham à^md n‹S>m & 22=4 

 Describe any two major developments that were to make a long lasting 

impact on Indian politics since the decade of eighties came to a close. 

16. ‘‘g§`wŠV amîQ´> gwajm n[afX² Ho$ ñWm`r gXñ`m| H$mo Xr JB© drQ>mo e{ŠV Zo g§`wŠV amîQ´> H$mo EH$ 

à^mdembr Am¡a pñWa g§JR>Z ~ZmZo _| ghm`Vm àXmZ H$s h¡ &’’ Bg H$WZ Ho$ nj _| H$moB© Xmo 
Cn ẁŠV VH©$ Xr{OE & 22=4 

 ‘‘Veto power to permanent members of the U.N. Security Council has 

helped to make the U.N. an effective and stable organisation.’’ Support 

the statement with any two suitable arguments. 
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17. ZrMo {XE JE H$mQ>©yZ H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma  

Xr{OE :  

 

(i) H$mQ>©yZ _| Xem©`m J`m g¡{ZH$ {H$g Xoe H$m à{V{Z{YËd H$a ahm h¡ ? 

(ii) g¡{ZH$ H$s dXu na {d{^Þ Xoem| Ho$ Zm_ A§{H$V H$aZo Ho$ H$maU H$m {díbofU  

H$s{OE & 

(iii) `h H$mQy>©Z {díd Ho$ AÝ` Xoem| H$mo Š`m g§Xoe Xo ahm h¡ ?  1+2+2=5 
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Study the cartoon given below carefully and answer the questions that 

follow : 

 
 

(i) Which country is represented by this soldier ?  

 (ii) Analyse the reason for putting the names of different countries on 

the dress of the soldier. 

(iii) What message does the cartoon convey to other countries of the 

world ? 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 17 Ho$ ñWmZ na h¢ :   
Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 17 :  

(17.1) 9/11 H$mo AmV§H$dmXr AmH«$_U ghZo dmbo Xoe H$m Zm_ {b{IE & 

(17.2) gmH©$ H$s {H$Ýht Xmo {deofVmAm| H$mo COmJa H$s{OE & 

(17.3) g§`wŠV amÁ` A_o[aH$m Ho$ dM©ñd Ho$ amñVo _| {H$gr EH$ AdamoY H$s ì`m»`m 

H$s{OE & 1+2+2=5 

(17.1) Name the country which faced the terrorist attack on 9/11. 

(17.2) Highlight any two features of SAARC. 

(17.3) Explain any one constraint on the U.S. hegemony. 

 

18. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma 
Xr{OE :  

  gmo{d`V g§K H$s ‘Xÿgar Xþ{Z`m’ Am¡a nydu `yamon H$s g_mOdmXr ì`dñWm Ho$ 

nVZ Ho$ n[aUm_ {díd amOZr{V Ho$ {bhmµO go Jå^ra aho & Bggo _moQ>o Vm¡a na VrZ 

àH$ma Ho$ XÿaJm_r n[adV©Z hþE Am¡a ha n[adV©Z Ho$ ~hþV gmao à^md hþE & 

(i) gmo{d`V g§K Ho$ nVZ H$m Š`m amOZ¡{VH$ à^md n‹S>m ? 

(ii) Xÿgar Xþ{Z`m Am¡a g_mOdmXr ì`dñWm Ho$ nVZ Ho$ H$maU _moQ>o Vm¡a na hþE {H$Ýht Xmo 

XÿaJm_r n[adV©Zm| H$mo COmJa H$s{OE & 

(iii) g_mOdmXr ì`dñWm H$s {H$Ýht Xmo {deofVmAm| H$m C„oI H$s{OE & 1+2+2=5 
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 Study the following passage carefully and answer the questions that 

follow : 

  The collapse of the ‘Second World’ of the Soviet Union 

and the Socialist systems in Eastern Europe had profound 

consequences for world politics. Let us note here three broad 

kinds of enduring changes that resulted from it. Each of these 

had a number of effects. 

(i) What was the political impact of the collapse of the Soviet 

Union ? 

(ii) Highlight any two broad kinds of enduring changes that 

resulted from the collapse of the Second World and the 

Socialist system. 

(iii) State any two characteristics of the Socialist system. 

19. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma 
Xr{OE : 

  AmµOmXr Ho$ Vwa§V nhbo A§J«oµOr-emgZ Zo KmofUm H$s {H$ ^maV na {~«{Q>e 

à^wËd Ho$ gmW hr aOdm‹S>o ^r {~«{Q>e-AYrZVm go AmµOmX hmo OmE±Jo & BgH$m 

_Vb~ `h Wm {H$ g^r aOdm‹S>o {~«{Q>e-amO H$s g_m{ßV Ho$ gmW hr H$mZyZr Vm¡a 

na AmµOmX hmo OmE±Jo & A§J«oµOr-amO H$m ZµO[a`m `h Wm {H$ g^r aOdm‹S>o AnZr 

_Ou go Mmh| Vmo ^maV `m nm{H$ñVmZ _| em{_b hmo OmE± `m {\$a AnZm ñdV§Ì 

ApñVËd ~ZmE aI| & 

(i) ‘H$mZyZr Vm¡a na AmµOmX’ go Š`m A{^àm` h¡ ? 

(ii) ‘{~«{Q>e à^wËd’ H$m AW© ñnîQ> H$s{OE & 

(iii) A§J«oµOm| Ûmam aOdm‹S>m| H$mo AnZr AYrZVm go _wŠV H$aZo Ho$ nrN>o JwßV BamXm Š`m  

Wm ? 1+2+2=5 
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 Study the following passage carefully and answer the questions that 

follow : 

  Just before Independence it was announced by the 

British that with the end of their rule over India, paramountcy 

of the British Crown over Princely States would also lapse. This 

meant that all these states .... would become legally 

independent. The British Government took the view that all 

these states were free to join either India or Pakistan or remain 

independent if they so wished. 

(i) What is meant by ‘legally independent’ ?  

(ii) Explain the meaning to ‘paramountcy of the British Crown’. 

(iii) Highlight the hidden motive of the British behind declaring 

the end of their rule over Princely States. 

 

20. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma 
Xr{OE :  

  ^maVr` g§{dYmZ Ho$ {Z_m©VmAm| H$mo {dídmg Wm {H$ g^r  

amOZr{VH$ Xb bmoH$Vm§{ÌH$ _mZH$m| H$m nmbZ H$a|Jo & CÝh| `h ^r {dídmg Wm 

{H$ AmnmVH$mb H$s pñW{V _| ^r gaH$ma AnZr AgmYmaU e{ŠV`m| H$m 

BñVo_mb {d{Y Ho$ emgZ Ho$ Xm`ao _| ahVo hþE hr H$aoJr & Bgr Cå_rX _| gaH$ma 

H$mo AmnmVH$mb go Ow‹S>o àmdYmZm| Ho$ A§VJ©V ì`mnH$ Am¡a Mhþ±_wIr e{ŠV`m± Xo Xr 

JBª & 

(i) ^maV H$m g§{dYmZ ~ZmZo dmbo {H$g g§ñWm Ho$ gXñ` Wo ? 

(ii) 1975 _| Kmo{fV AmnmVH$mb Ho$ Xm¡amZ, gaH$ma Ûmam bmoH$V§Ì Ho$ _mZH$m| Ho$ 

C„§KZ Ho$ H$moB© Xmo CXmhaU Xr{OE & 

(iii) ‘1975 _| Kmo{fV AmnmVH$mb {H$g gr_m VH$ Ý`m`mo{MV Wm ?’ AnZo CÎma Ho$ 

nj _| EH$ Cn ẁŠV VH©$ {b{IE & 1+2+2=5 
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 Study the following passage carefully and answer the questions that 

follow : 

  The makers of India’s Constitution trusted that all 

political parties would basically abide by the democratic norms. 

Even during the Emergency, when the government would use 

extraordinary powers, its use would be within the norms of the 

rule of law. This expectation led to the wide and open ended 

powers given to the government in times of Emergency. 

(i) Name the body that comprised the makers of the 

Constitution of India.  

(ii) Cite any two examples of violation of democratic norms by 

the government during the Emergency declared in 1975. 

(iii) ‘‘How far was the Emergency declared in 1975 justified ?’’ 

Support your answer with one suitable argument. 

 

21. ^maV Ho$ {XE JE aoIm-_mZ{MÌ _| nm±M amÁ`m| H$mo                   VWm     Ûmam Xem©`m 

J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZH$s nhMmZ H$s{OE Am¡a AnZr  

CÎma-nwpñVH$m _| BZHo$ ghr Zm_, à`moJ H$s JB© OmZH$mar H$s H«$_-g§»`m VWm gå~pÝYV 

Aja, ZrMo Xr JB© Vm{bH$m Ho$ ê$n _| {b{IE :  

à`moJ H$s JB© OmZH$mar 
H$s H«$_-g§»`m 

gå~pÝYV Aja  amÁ` H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

(v)   
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(i) dh amÁ` {OgH$s ñWmnZm 1953 _| hþB© & 

(ii) dh amÁ` {Og_| go H$mQ> H$a N>ÎmrgJ‹T> H$mo ~Zm`m J`m & 

(iii) ^maV Ho$ CÎma-nyd© H$m EH$ amÁ` & 

(iv) dh amÁ` Ohm± 1952 go 1967 VH$ ZoeZb H$m±\«|$g H$m à^wËd ahm & 

(v) CÎma àXoe go H$mQ> H$a ~Zm`m J`m amÁ` &   51=5 

 

In the given outline map of the India, five states have been   

marked as          and  . Identify them on the basis of 

information given below and write their correct names in your answer 

book with the respective serial number of the information used and the 

concerned alphabet as per the following format :  

Sr.  No.   of   the 

information used 

Concerned 

Alphabet 

Name of the 

State 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) The State which was formed in 1953. 

(ii) The State from which Chhattisgarh was carved out. 

(iii) A North-Eastern State of India. 

(iv) The State where National Conference dominated from 1952 to 

1967. 

(v) The State which was carved out of Uttar Pradesh. 
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àíZ g§. 21 Ho$ {bE For question no. 21 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na  
h¢ :   

Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 21 : 

(21.1) {H$g amÁ` H$mo CÎma àXoe go AbJ H$aHo$ ~Zm`m J`m ? 

(21.2) 1953 _| ~Zo amÁ` H$m Zm_ {b{IE & 

(21.3) {H$g amÁ` _| ZoeZb H$m±\«|$g H$m 1952 go 1967 VH$ à^wËd ahm ? 

(21.4) Cg amÁ` H$m Zm_ {b{IE {Oggo PmaIÊS> H$mo AbJ {H$`m J`m & 

(21.5) Cg amÁ` H$m Zm_ {b{IE Omo 1977 _| ^maV H$m EH$ A§J ~Z J`m & 51=5 

(21.1) Which State was carved out of Uttar Pradesh ? 

(21.2) Name the State which was formed in 1953. 

(21.3) In which State did the National Conference dominate from 

1952 to 1967 ? 

(21.4) Name the State from which Jharkhand was carved out. 

(21.5) Name the State which became a part of India in 1977. 

 

22. df© 2005 _|, g§`wŠV amîQ´> Ho$ gXñ` Xoem | Ho$ amîQ´>mÜ`jm| Ûmam ~XbVo hþE n[adoe _| g§`wŠV 

amîQ´> H$mo A{YH$ àmg§{JH$ ~ZmZo Ho$ {bE, gwPmE JE {H$Ýht N>: H$X_m| H$m C„oI H$s{OE & 61=6 

AWdm 

 ~mhar gwajm H$s nma§n[aH$ YmaUm Ho$ {H$Ýht VrZ VÎdm| H$m dU©Z H$s{OE & 32=6 

Mention any six steps suggested by the heads of all the member-states in 

2005 to make the United Nations more relevant in the changing context. 

OR 

Describe any three components of the traditional notion of external 

security. 
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23. _mZ br{OE {H$ AmnHo$ joÌ _| {H$gr ~‹S>o ~m±Y {Z_m©U Ho$ H$maU bmIm| bmoJm| VWm g¢H$‹S>m| 
Jm§dm| H$mo {dñWm{nV {H$`m OmZm h¡ & Eogr pñW{V _|, Amn H$moB© VrZ gwPmd Xr{OE {Oggo 
~m±Y H$m {Z_m©U H$m`© ^r nyam hmo gHo$ VWm {dñWm{nV bmoJm| H$mo H$_ go H$_ H${R>ZmB© VWm 
hm{Z hmo & 32=6 

AWdm 

 {H$Ýht VrZ CXmhaUm| Ûmam Bg H$WZ H$s nwpîQ> H$s{OE {H$ g^r joÌr` Am§XmobZ AbJmddmXr 
_m±Jm| H$s Va\$ AJ«ga Zht hmoVo & 32=6 

Suppose lakhs of people and hundreds of villages are to be displaced in 

your area due to the construction of a big dam. Give any three 

suggestions so that the construction of the dam may be completed and 

the displaced people face the minimum hardships and harm. 

OR 

Justify the statement that all regional movements need not lead to 

separatist demands. Give any three examples to support your answer. 

24. 1971 Ho$ MwZmdm| _| H$m±J«og nmQ>u H$mo g\$bVm H$s Amoa bo OmZo dmbo {H$Ýht VrZ H$maH$m| H$m 
dU©Z H$s{OE & 32=6 

AWdm 

 1980 _| _Ü`md{Y MwZmd H$amE OmZo Ho$ {bE CÎmaXm`r {H$Ýht VrZ H$maH$m| H$m dU©Z  
H$s{OE & 32=6 

Describe any three factors that led the Congress Party to electoral 

success in the 1971 elections. 

OR 

Describe any three factors that were responsible for holding mid-term 

elections in 1980. 

25. ‘‘`yamonr` g§K EH$ ~hþV hr à^mdembr joÌr` g§JR>Z h¡ &’’ Bg H$WZ Ho$ nj _| H$moB© VrZ 

Cn ẁŠV VH©$ Xr{OE & 32=6 

   AWdm 

 ‘‘^maV Zo gX¡d AnZo g^r n‹S>mogr Xoem| Ho$ gmW AÀN>o Am¡a gh`moJnyU© gå~ÝY aIZo H$m 

à`mg {H$`m h¡ &’’ H$moB© VrZ Cn`wŠV VH©$ XoH$a Bg H$WZ H$s nwpîQ> H$s{OE & 32=6 
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‘‘European Union is a highly influencial regional organisation.’’ Support 

the statement with any three suitable arguments. 

   OR 

‘‘India has always tried to have good and cooperative relations with all its 

neighbours.’’ Support the statement with any three appropriate 

arguments. 

26. _hme{ŠV`m| Zo N>moQ>o Xoem| H$mo AnZo JwQ> _| Š`m| em{_b {H$`m ? {H$Ýht Mma H$maUm| H$mo ñnîQ> 

H$s{OE &  41
2

1
=6 

AWdm 

 Eogo H$moB© Mma H$maU ñnîQ> H$s{OE {OÝhm|Zo gmo{d`V àUmbr H$mo bmoJm| Ho$ {bE _¡ÌrnyU© Zht 

ahZo {X`m & 41
2

1
=6 

Why did the superpowers have smaller states as their allies ? Explain 

any four reasons. 

OR 

Explain any four reasons which made the Soviet System unfriendly for 

the people. 

27. d¡ídrH$aU go hmoZo dmbo Am{W©H$ bm^m| Ho$ ~±Q>dmao H$m {díbofU Bg AmYma na H$s{OE {H$ 
gdm©{YH$ bm^ {H$go hmoVm h¡, H$_ bm^ {H$go {_bVm h¡ VWm {H$gH$mo ZwH$gmZ CR>mZm n‹S>Vm 
h¡ & 32=6 

AWdm 

 ^maV gaH$ma Ûmam {d{^Þ H$m`©H«$_m| Ho$ _mÜ`_ go, n`m©daU go g§~§{YV d¡pídH$ à`mgm| _| 

gh^m{JVm H$m _yë`m§H$Z H$s{OE & 6 

Analyse the distribution of economic gains of globalisation on the basis of 

who gets the most, who gets less and who loses from it. 

OR 

Evaluate the participation of the Indian Government in global efforts 

through a number of programmes related to environment. 


